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You plan on using radioactive sulfur 38 in an experiment in your labora-
tory. It will take 15 hours to ship the sulfur 38 from the producer to your
lab. If you want to have 5 g of the isotope to use in the experiment, how
much should you order from the producer? The half life of sulfur 38 is
3.0hr.

A sample of sodium 24 was received in your laboratory 1 day 22 hours
after being shipped from the producer. The weight of the sample when it
reached you was 2.0 g. Did the producer ship the 24.0 g of sodium 24 you
had requested?

A radioactive isotope decays to one eighth of its original activity in 60
years. What is the half life of this isotope?

Asample of selenium 83 registers 1072 disintegrations per second when it
isfirsttested in a laboratory. What rate of disintegration would you predict
for this isotope 12 hours later? The half life of selenium 83 is
25 minutes.

An order for phosphorus 32 has been placed for some studies on plant
growth. How much of the isotope will remain one month after it has been
produced? Six months later? (Express your answers as percents of the
original amount.)

In studies to determine the half life of an isotope, 10.0 g of the isotope is
found to decay to 0.625 g overa period of 6.0 hours. From this information,
calculate the half life of the isotope.

In an experiment to determine the half life of an isotope, a very precise
clock is set at 00" 00™ 00.000° the moment the isotope is produced. At
the instant the clock reads 00" 00™ 14.846°%, 8.0% of the isotope remains
unchanged. From this information, calculate the half life of the isotope.

tions
Problems for Nuclear Reac
types of nuclear chemistry problems: how much and how

(Ba will be left after

9 weeks if there were initially 2.4 mol of atoms?
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atoms of 10,,Ag to disintegrate to 2.93 x 1023 atoms

if the halflife of 1%°4;Ag is 24.6 secorids?

3) Radioactive copper,

sediments of a reservo:
14 ppmy/cubic meter of

The half life of ,4Cuis 127

4) An unidentifi
discovered that there were 1.24 X 1

and placed time of death sometime on 15
How much 32, ;P was present in the bones at

64, Cu, is found in quantities exceeding pollution standards in th

ir in a routine check on Monday. The standard allows up to

sediment. On Monday, 59ppm/cubic meter were measured. )
hours. When will the pollution level return to 14ppm?

i il at 7:00 AM. The pathologist
4 corpse was discovered on 21 April AM. 1 holog
s 0%7 atoms (:f32151> remaining in the victim's bones

March. The half life of 32 P is 14.28 days
the time of death?




